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Mail Sorted at Post Office 1 Mail in Transit Mail Sorted at Post Office 2 Delivered Mail

mail deposit rate rate of mail flow 1 mail delivery rate

AVERAGE DELAY FOR MAIL DELIVERY
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Perception of
Smoothed Variable

S

Decision

based on

smoothed
information

change in
perception

) ACTUAL STATE OF
O CHANGE
TIRSEERTCE%‘%N(’E SMOOTHED VARIABLE

change_in_perception = gap / TIME TO CHANGE PERCEPTION
gap = ACTUAL STATE OF SMOOTHED VARIABLE - Perception of Smoothed Variable
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planting rate
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AVERAGE MATURATION TIME
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DELAY FIXED
pipeline delay with fixed time duration

DELAY FIXED (input, delay time, initial value)



DELAY FIXED

receiving = DELAY FIXED (shipping, shipping time, shipping)
shipping = STEP(1,10)-STEP(1,20)

shipping time
ey ? -y shipments -~
hinDi in transit =~ >
sSnipping receiving
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DELAY FIXED
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3rd order exponential DELAY

* DELAY3(input, delay time)

Co——=—" stock 1 > stock 2 | stock 3 2
Input utput 1 \] - d
output 2 Utput 3
\ '& /;‘
\ Average Delay _//f
Time
L = P stock \: -
input 1 :utput 30

— -

output 30= DELAY 3(Input 1, Average Delay Time )



3rd order exponential DELAY
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3rd order exponential DELAY

DELAY3I(input, delay time, initial value)
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3rd order exponential DELAY

DELAY3I(input, delay time, initial value)

DL = delay time/3

LV1 = INTEG(input-RT1,LV3)

RT1 =LV1/DL

LV2 = INTEG(RT1-RT2,LV3)

RT2 = LV2/DL

LV3 = INTEG(RT2-DELAY3], initial value*DL)
DELAY3I = LV3/DL



N'th order exponential delay

* DELAY N(input, delay time, initial value, order)



